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This article talks about two possible business models for web startups. First, Technology Focused and the other Network Effects focused. The article also says that even though these 2 models are different, they are closely related to each other and mostly rely on the other for success.

According to the article, the technology business model is one primarily based around innovation, offering a compelling value proposition not available elsewhere. These services are extremely useful and can be fully utilized without any investment on the part of a user. While the ‘network effects’ business model is one primarily based on user base and user interaction. Like its counterpart, technology is key for this model but it is not the focus. Instead, technology is important as an infrastructure tool, facilitating the business models of these companies.

As discussed in the class this network effects business model is an example of direct network effects, where value to the company depends directly on the number of adopters. The article also discusses Metcalfe’s Law (the total value of the service is roughly proportional to the square of the number of ‘customers' utilizing the service) by giving example of MySpace. 
Finally one aspect which article does not mention about having network effects model is increased switching costs. As learned in the class, such a network effect lead to substantial collective switching costs and lock-in and in effect further increase the adoption rate.
